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S aH
HHE: JatH 2H
CHRl: CHAHEH AP H Y| (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
CHAHA 265,039 277,513 N12,474
ot 2 174,028 185,726 A 11,698
CHAFSE AR 2 HI 174,028 185,726 A 11,698
A2 FOU=RAAY 50,000 50,000 0
401 Al HI L E0HHI 50,000 50,000 0
01 Al& H| 50,000 50,000 0
OALRD FOU=SIAALY 50,000
N8l 249 5,939 5,939 0
301 LBt A= 5,939 5,939 0
04 AIsHHHIJISFH| 5,939 5,939 0
O0oFAl HI 2,500& x2H x365 1,825
Oogdl HeF2d 3,000
OdIlz 6,000 x12& 72
(@FR=4s]| 392,000 10 & 392
O=Az2 fXH 150,000 »1JH 2~ 150
OXsgdil 2494 500
ScletE 29 50,700 50,700 0
301 et A= 50,700 50,700 0
05 S&E -0 -EHEESEMN= 50,700 50,700 0
oJlgs4 200,000& x15H ~12& 36,000
oan2 200,000 15 *200% 6,000
039 & 20,0003 x15H x23| x12& 7,200
Ot A= 25,000& x30H 23| 1,500
A2 AN & 3,900 9,900 A 6,000
301 LBt A= 3,900 9,900 A 6,000
09 SHAIAHI B A2 2,900 8,900 A 6,000
OO0l (B )M S A 40,000 x15H 600
OLQHOIEEU3 20,000 25 500
OdllS0l S JIEFEH A 800
O=S Ml AL 1,000
11 JIEtE A2 1,000 1,000 0
OsYdeHI& 1,000
CHAFSE F AR 53,489 65,687 N 12,198
101 2124 H] 7,319 6,072 1,247
04 JI2ZtHIZ22NEE S 7,319 6,072 1,247
OFR =24 Jt2 & 4| 58,000 x10H 83| 4,640
OYAAY o1l 44 640260 x1H 2,679
201 LBt ]| 31,240 31,240 0




S aH
HHE: JatH 2H
CHRl: CHAHEH AP H Y| (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 AP 22| d| 19,240 19,240 0
OFUXXNEH 24 16,000
OXNXAMEY 24 3,240
02 Z2=2=29%4| 12,000 12,000 0
O2222 % NMAM(HAL=EXz2) 6,000
OHZHI(ZAHEX3 ) 4,000
OA & &l S XYl 2,000
206 M = dl 6,730 7,175 N 445
01 X2 b 6,730 7,175 N445
OFEZF Z2LXH Y iz HA 500
Ogd9ALsE RFRU(ESR) 1,600 x3,500¢ 5,600
Qg9 AsE REH(FYR) 1,800& *3504 630
307 2Iz2t0| & 1,200 1,200 0
05 QIZ2tREF 2 1,200 1,200 0
OFAMNLRQIIH 24| 100,000& 1 A %12 1,200
401 Al HI L 2 THHI 7,000 20,000 13,000
01 Al&H| 7,000 20,000 A 13,000
OHARA AIRA SFEH| 7,000
AMAUHSUHE L ASSHA 10,000 3,500 6,500
201 et Y| 10,000 3,500 6,500
03 A2 HH| 10,000 3,500 6,500
OAlCI g et =0t 10,000
SHAE A AH| 91,011 91,787 NTT6
olad 2 A Y| 28,716 27,907 809
At ol 2AY| 28,716 27,907 809
101 e1214| 28,716 27,907 809
03 2INHAZ2 2 XNHE %= 28,716 27,907 809
OAEEXRA (1Y) 28,716
ez 1,166,220 x12& 13,995
A0 1,166,220 x400% 4,665
WES XH| 120,000& ~12& 1,440
oM FAH| 130,000& x12& 1,560
ol sl 40,000 x12& 480
A2t 2R 4%
7.,757& «15A1 2F+1 580 = 12& 2,095
HESIHH| (L, =4) 1,166, 2202 *120% 1,400
o JF &2 Al 62,056 10 621
252G 205,000 x12& 2,460
PIEET 62,295 63,880 ~1,585
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